total of the numbers on the

(b) squares (c¢) hexagons (d) triangles.
2 (a) 20 + 90 + 30 + 50 (b) 80 + 40 + 20 + 80
(©) 60 + 30 + 40 + 70 + 50 (d) 50+70+90+70+ 10

3 (a) 36+ 19+24+11 (b) 28+ 18+ 17+32 (c) 43+34+12+75;
(d) 22 +84+ 16+51 (e) 93 +62+25 (f) 84+ 43 +69
() 76+53+30+14 (h) 35+99+27+20 (i) 52+19+70+

(i) 44+ M +66=200 (k) 87 +35+ M =190

I answered 7|
correctly.

I had 70
questions
correct.

e I'had 75
N correct answers.

. mar *zquestlons altogether did
_ hese four children answer correctly?

5 (@) 62+63+6I +60 (b) 58+51+56+53
(9 30+32+31+35+30 (d) 99+ 96 +98 + 99+ 97
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